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The diagram shows three identical shapes A. B and C.

g of shape A is shaded.

% of shape C is shaded.

A B

‘What fraction of shape B is shaded?
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6 (a) Work out the value of

ABCD is a square.
‘This diagram is drawn accurately.

D

(b) What fraction of the square ABCD is shaded?
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There are 20 students.
12 are boys.

What fraction are boys?
Circle your answer.
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[1 mark]
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22 Which of % or g is closer in value to %7

You must show your working
[3 marks]
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Which of these can be written as % ?

Circle your answer.
[1 mark]
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12 Jody's pay is £315 per week.

She works for 37% hours per week.

12 (a) Work out her hourly rate of pay.
[2 marks]

Answer £
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6 Shazia buys 10 boxes of drinks.

The cost of each box of drinks is £5
Each box holds 12 cans of drink.

Shazia sells 2 of the total number of cans for 60p each.

She then sclls all the remaining cans for 30p cach.

Work out the total profit that Shazia makes.
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11 Here are two identical squares.

The first square is divided into four equal parts.
The second square is divided into five equal parts.

The two squares are joined together as shown to make a rectangle.

‘What fraction of the rectangle is shaded?




